Drive Wheels and Attaching Hardware

®
\ "4 Drive Wheel Assembly (14" x 3")
\ A Before 10/17/01 Drive Wheel Assembly (14" x 3")

After 10/16/01

\ (/;)/ Drive Wheel Assembly (14" x 4")

NS




Drive Wheels and Attaching Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1-3 C See Chart #'s 1-3 Drive Wheels and Attaching Hardware 1 1
4 A 1090651-NLA | NLA - Kit, 8" Rim w/ Hardware (14" x 3" Wheel) 1 1
4 B 1104882-NLA | NLA - Kit, 8" Rim w/ Hardware (14 x 3" Wheel) 1 1
4 1042453-NLA | NLA - Kit, 6" Rim w/ Hardware (14" x 4" Wheel) 1 1
AD,E | 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 8
AD,E 7930333 Locknut (1/4-20) 25 8
B,D,F 1101094 Screw, Socket Head w/ Patch (5/16-18 x 7/8") 1 5
B,D,G | 1024443-NLA | NLA - Screw, Hex Head (5/16-24 x 5/8") 1 6
B,D,G | 1024442-NLA | NLA - Washer, Lock (5/16 x 9/16 x 1/16") 1 6
B,D,G | 1024426-NLA | NLA - Nut, Hex (5/16-24) 1 6
NOTE: A - Before 10/17/01.
B - After 10/16/01.
C - See chart titled "Item #'s 1-3 Drive Wheels and Attaching Hardware."
D - Not Shown
E - Included in rim with hardware part number #1090651 before 10/17/01.
F - Included in rim with hardware part number #1104882 after 10/16/01.
G - Included in rim with hardware part number #1042453.
Item #'s 1-3 Drive Wheels and Attaching Hardware
- #1 #1 #2 #2 #3
Description Wheel Wheel Complete Tire Tire Tube
Complete w/ Flat Free w/ Flat Free
14" x 4" 1094017-NLA 1094016-NLA 1042474 1042478 1042475
14" x 3"
Before 1090649-NLA 1090650-NLA 1039652 1101754 1039651
10/17/01
14" x 3"
After 1104438 1104437 1039652 1101754 1039651
10/16/01




